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BUSINESS MATHEMATICS

GROUP - A
ALL Question carrying 1 marks (4! kGl P WM 1 3 2)

HP:l,—l-,l ............. find 11" term.
258
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GM of any two unequal quantity is.............. their AM.

(Less than/ More|than)

Formula of circular permutation is
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If ne,=ne.,. The value of 1 is .
e ne,=ne,. n B HA LI

(i) 12 (ii) 2 (iii)) 35 (iv) n
If there are no members in a set then the number of its sub set is

afe el ooy # el & W A B A SugeEl B W ... E

If4=1{2,3,4} ,B=1{4,5,6}

Then find AN B

e 4=1(2,3,4} ,B=1{4,5,6}

AT ANB N

Which of the following averages is a positional average?

(a) arithmetic mean (b) median (c) geometric mean (d) harmonic mean

frferfae Ameal & @1 W Reifa el @z 2
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Arithmetic Mean and Average are the same
(True/ False)
IR A qT AT Ud FHIA BN § |
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Sum of deviation taken from arithmetic mean is zero.

(True/ False)
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Harmonic mean is the reciprocal of arithmetic mean.
: (True/ False)
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The average speed can be calculated by
(a) X (b) G.M (c) HM (d) None of these
o @ Freferiad & | s fosr S wepr & |

A time series is an arrangement of

(a) statistical data chronologically
(b) data not arranged chronologically

(c) both
(d) None of these
PTel A a3 |
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Secular trend cannot be curve-linear.
(True/ False)

(Srefeprei=) STA a5 YR 81 el B |

GEVAGH)
P(A and B) =P(A) x P(B)

(True/ False)

AT A B B WRGAT = A B x B WG
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Which is the method that can be used in any type of question of interpolatiog.

(a) Newton’s method

(b) Binomial expansion method
(c) Lagrange’s method

(d) None of these
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GROUP -B

ALL Question carrying 3 marks ('\“I"ﬂ yeAl @ A 3 AP %)

There are 45 students in a class out of which 15 are girls. The average weight of 15

45 kgs and that of 30 boys is 52 kgs. Find the average weight of the whole ¢lass.

girlsis 3

v it & 45 fenedf &1 R 15 el ¥ 1 15 wefhal @1 SR 4R 48 feelim & 3iR

30 TSP BT 9R 52 franm €t wepel ot @1 A R e 5 Ao |

If mean of two items is 16 and H.M. is 9. find our their G.M.

afy 37 vet FT ATy 16 TAT EIIH HET 9 © A bl UK A ISy

In a business a man can make a profit of ¥ 3000 with probability 0.6 or Jto take a

Z 1000 with probability 0.4. Determine the expectations.
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There are 100 tickets numberd from 1 to 100. They are well shuffled and one ticket is

drawn at random. Find the probability that the numbers on the ticket drawn
integer.

100 fCdc & R 1 | 100 @ TR €A T & | S9! 38 TRE e fo
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In a single throw of two die. What is the probability of getting a total of 8.

3l A Bl U@ WY BEHe W RS 1 B A 3T S 8 &

GROUP -C

ALL Question carrying 5 marks (0 % & A 5 3% §)

s square of an

o ST B3I
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Show without expanding at any stage that :
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If 4 { | 2] find £ (4), where f{x) = x*-5x+7

Ife A{fl jf(A)sﬂa Ny

SR fix) = x%-Sx+7
Defferentiate with respect to x

X @ WU ATHET DY

(x> =5x+6)(x—3)

Find (A1 febred)

J‘4x2 X’ +3dx

Calculate harmonic mean of following numbers.
(1 eematt &7 &RIed e ST I

32, 35, 36, 58, 61, 73

From the following table. Calculate trend value by 4 yearly moving average.

(=1 crrferept 9 4 aftfa 7@ Aed gRT SUARY qou fAare)

Y
(;%r 1998 1999 2000 2001 2002 2003
\(/%‘;)e 100 105 15 90 05 85
Year

) 2004 2005 2006 2007 2008 2009
Value

80 65 75 70 75 80

(7e) |




27.

28.

29.

30.

31.

(ii)
()

(i)

GROUP -D

ALL Question carrying 8 marks (8 5% & A 8 3i®
Find the A.P whose 7™ and 12" terms are 34 and 64 respectively. Also find i

10" term.

s " term and 8
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There are 10 professors and 20 students out of whom a committee of 2 professors

students to be formed. Find how many ways these committees can formed if,
(a) a particular preofessor is included?

(b) a particular preofessor is excluded?

10 WHER 3R 30 fafiy & & 2 wowR iR 3 faeniRiEl @ e B
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If 75% boys prefered mangoes and 53% boys prefer bananas. Find the perc

students who prefer both mango and banana?

Find LCM of 12 and 18 by the method of set.
AR 75% ASH AH TS BYA & AR 53% TSP Dl TS PRl & ql S |
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g fafdr & 12 TT 18 <0 ¥0 A BN |

Calculate ‘mean’ and ‘mode’ of the following -

ferfoRad de @1 AT T 9gdd ol —

CRIGI

entage o

TSPl Pl

Age

0-10 | 10-20 | 20-30 | 30-40 | 40-50 50-60 | 60-70
(313)
Frequency

2 11 20 26 30 10 1
(emgfa)

Estimate the production for the year 1989 and 1999 with the help of followihg table —

foyrT AT @ ETIAT W 1989 W7 1999 T¥ B foTy STUIRH BT A A —

Year 1984 | 1989 | 1994 | 1999 | 2004 | 2009
()
Production in
Lakh tons 180 ? 250 ? 320 400
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